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[1] 84 Q= {1,2,3,4,5,6} L ZDIAESE A = {4,5,6}, B={3,6} ITF LT, IRD&E
G % BARIICE
(1) ANB, (2) AUB, (3)B\A, (4) A°=Q\A.

[2] 8£A A={1,2}, B={3,4,5}, C = {1,2,4,6} T U TITAK D 2D, B ZAHT
TEHEZ L
(1) AnB=0, (2)AcC

LR—MEE LT [3],[4] OfFE%, RODIFEDIFLHICIRBELTTFI W, (B2
BT A Y - BRSNS NI, LR - PORAIZHEALTIEWN,)

3] 4 A= {1,357}, B=1{2,3,7,9} TR LT, ROELZEKIIZET
(1) ANB, (2) AUB, (3) AAB=(AUB)\ (AN B).
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[5] R FORKME A= (0,7). XM B =[3,9] {Zx L T, ROEE % BRIz EF T
(1) AnNB, (2) AUB, (3)A°=R\A.

6] A QL ZDHRES A, B, C 1T L TIRERYE,

(AUBUCQC) = A°NB°nNncC-.
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